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1 Proposal
Based on the discussion in the meeting in relation to documents S2-170302, S2-170203, S2-170265 and S2-170356, the following is a list of open points that need to be resolved for mobility from NGS to EPS.
The opposite direction will be considered in future as there may be dependency on the definition of the NGS procedures.
For Case A: “single registered” UE and NGx support in the network.

1.
Select the call flow for “seamless” handover.

For Case C: “single registered” UE (or “dual registered / single mode” UE) and no NGx support in the network.
1.
The state model in UE (e.g. “single registered”, “dual registered / single mode”, coordinated, uncoordinated).

2.
NAS-level procedure(s) used on the target (EPS) side (e.g. Handover Attach, TA update) upon UE mobility from NGS to EPS for UE that was in CN_Idle or CN_Connected on the source (NGS) side. Describe any standards changes needed to support these procedures compared to Rel-14 EPC.
3.
For UE capable of network registration without established PDU Session clarify the status of the UE registration on the source (NGS) side after all PDU Sessions have been transferred on the target (EPS) side.

4.
Does UE need to be aware of NGx support in the network and why? If yes, how is NGx support indicated to UE and what is the granularity of homogeneous NGx support?

5.
How does SMS delivery work?
6.
Is Cancel Location used and how?
7.
Is support for Case C procedures mandatory for all UEs that are both NGS- and EPS-capable? If not, does the network need to know UE capabilities and why?
For Case B: “dual registered” UE.

1.
Does NGC and EPC need to be aware of UE’s “dual registered” capability and why? (e.g. if the network supports NGx, how is the operation mode selected?).
2.
How does SMS delivery work?

3.
Is Cancel Location used and how?
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